suco -
0512-62895546
www.bethma.cn

info@bethma.com

M.3

hex 24

0163

wiRARRRIRNENTI X, REEBEERIA42V
o EHREE (REANE

o fERARIREH

o RLTMERIL600bar”

EHETEE shiBs TS iIT5s
(ZREHTHAE) i BRI HH—
oot
PR i 0163 #1E K MBERE N FF £

G1/4 0163 - 403 03 - X - 011 0163 - 404 03 - X - 015
G1/8 0163 - 403 28 - X - 603 0163 - 404 28 - X - 604

0.1-1 (£02) bar M10x1 B4 0163 - 403 13 - X - 003 0163 - 404 13 - X - 004
M10x1 R 0163 - 403 01 - X - 009 0163 - 404 01 - X - 013
M12x1.5 [+ 0163 - 403 02 - X - 010 0163 - 404 02 - X - 014
NPT1/8 0163 - 403 04 - X - 012 0163 - 404 04 - X - 016
G1/4 0163 - 423 03 - X - 070 0163 - 424 03 - X - 070
G1/8 0163 - 423 28 - X - 070 0163 - 424 28 - X - 070
M10x1 [+ 0163 - 423 13 - X - 070 0163 - 424 13 - X - 070

0.5-3(+0.3) bar -
M10x1 $fEF 0163 - 423 01 - X - 070 0163 - 424 01 - X - 070
M12x1.5 B4 0163 - 423 02 - X - 070 0163 - 424 02 - X - 070
NPT1/8 0163 - 423 04 - X - 070 0163 - 424 04 - X - 070
G1/4 0163 - 407 03 - X - 027 0163 - 408 03 - X - 031
G1/8 0163 - 407 28 - X - 607 0163 - 408 28 - X - 608
M10x1 B+ 0163 - 407 13 - X - 007 0163 - 408 13 - X - 008

1-10(+0.5) bar -
M10x1 iR 0163 - 407 01 - X - 025 0163 - 408 01 - X - 029
M12x1.5 4 0163 - 407 02 - X - 026 0163 - 408 02 - X - 030
NPT1/8 0163 - 407 04 - X - 028 0163 - 408 04 - X - 032
G1/4 0163 - 411 03 - X - 043 0163 - 412 03 - X - 047
G1/8 0163 -41128-X-611 0163 -41228 - X -612
M10x1 [+ 0163 -41113-X-011 0163 -41213 - X -012

10-20 (£ 1.0) bar -
M10x1 RS 0163 - 411 01 - X - 041 0163 - 412 01 - X - 045
M12x1.5 BEl+E 0163 - 411 02 - X - 042 0163 - 412 02 - X - 046
NPT1/8 0163 - 411 04 - X - 044 0163 - 412 04 - X - 048
G1/4 0163 - 415 03 - X - 059 0163 - 416 03 - X - 063
G1/8 0163 - 41528 - X - 615 0163 - 41628 - X - 616
M10x1 B+ 0163 - 41513 - X - 015 0163 -416 13 - X - 016

20-50 (+ 2.0) bar -
M10x1 $ER 0163 - 41501 - X - 057 0163 - 416 01 - X - 061
M12x1.5 B+ 0163 - 415 02 - X - 058 0163 - 416 02 - X - 062
NPT1/8 0163 - 415 04 - X - 060 0163 - 416 04 - X - 064

TE PR U

NBR WE/HAGE, #Gh, =5, 85%. 1
EPDM FZEh, S5, 8%, HF. 2
FKM JIEB(HFA, HFB, HFD), &iMmZ. 3
HNBR WRE /A, BEEAE 9

HERMNTUEXBEEE R EHM AR,

'

TS

0163 - XXX XX—X—XXX|

| o |
RoHSlI @‘*
compliant | | € ™18 VEWSENE. FhSENERIR30%-50%. BIESEENFRPIRE/ SETH.




suco -
0512-62895546 info@bethma.com
www.bethma.cn

0163 M.3

HENMELUEEHNRBIERE AT L, BSHEETIALV hex 24

o PEFHWNFTL (FENME)
o MIMRAIELAE
o REMERIX600bar”

EHBTEE shiBE T8RS TS

(BREHTHAE) T BH—|: HiAl—

0163 THMIMELIZL A RIPRIEE I % e
G1/4 0163 - 401 03 - X - 003 0163 - 402 03 - X - 007 A
G1/8 0163 - 401 28 - X - 601 0163 - 402 28 - X - 602
M10x1 Bl4E 0163 - 401 13 - X - 001 0163 - 402 13 - X - 002

0.1-1(+0.2) bar &
M10x1 H#ERZ 0163 - 401 01 - X - 001 0163 - 402 01 - X - 005 by
M12x1.5 Bl#E 0163 - 401 02 - X - 002 0163 - 402 02 - X - 006 hex24
NPT1/8 0163 - 401 04 - X - 004 0163 - 402 04 - X - 008
G1/4 0163 - 421 03 - X - 070 0163 - 422 03 - X - 070 Y ; \A
G1/8 0163 - 42128 - X - 070 0163 - 422 28 - X - 070 = J
M10x1 B 0163 - 421 13 - X - 070 0163 - 422 13 - X - 070 I

0.5-3(+0.3) bar -
M10x1 #EfZ 0163 - 42101 - X - 070 0163 - 422 01 - X - 070
M12x1.5 El#E 0163 - 421 02 - X - 070 0163 - 422 02 - X - 070
NPT1/8 0163 - 421 04 - X - 070 0163 - 422 04 - X - 070
G1/4 0163 - 405 03 - X - 019 0163 - 406 03 - X - 023
G1/8 0163 - 405 28 - X - 605 0163 - 406 28 - X - 606
M10x1 B4 0163 - 405 13 - X - 005 0163 - 406 13 - X - 006

1-10(+0.5) bar —
M10x1 #ERZ 0163 - 40501 - X -017 0163 - 406 01 - X - 021
M12x1.5 El#E 0163 - 405 02 - X - 018 0163 - 406 02 - X - 022
NPT1/8 0163 - 405 04 - X - 020 0163 - 406 04 - X - 024
G1/4 0163 - 409 03 - X - 035 0163 - 41003 - X - 039
G1/8 0163 - 409 28 - X - 609 0163 -41028-X-610
M10x1 B4 0163 - 409 13 - X - 009 0163 -41013-X-010

10- 20 (+ 1.0) bar —
M10x1 §ER2 0163 - 409 01 - X - 033 0163 - 41001 - X - 037
M12x1.5 ElfE 0163 - 409 02 - X - 034 0163 -41002 - X - 038
NPT1/8 0163 - 409 04 - X - 036 0163 - 410 04 - X - 040
G1/4 0163 - 413 03 - X - 051 0163 - 414 03 - X - 055
G1/8 0163 -41328 - X - 613 0163 - 41428 - X - 614
M10x1 El#E 0163 -413 13- X -013 0163 -41413-X-014

20-50 (% 2.0) bar —
M10x1 i 0163 - 413 01 - X - 049 0163 - 41401 - X - 053
M12x1.5 ElfE 0163 - 413 02 - X - 050 0163 - 414 02 - X - 054
NPT1/8 0163 - 413 04 - X - 052 0163 - 414 04 - X - 056

BEAR- R A il

NBR RIE/HAGE, #oh, =25, /5% 1

EPDM MER, 85, 8, IRE. 2

FKM MaFER(HFA, HFB, HFD), 3SiMZ. 3

HNBR WE /AR, BEEEM 9

B2 TTEXRESEE R ZH MR N F AR ¢
AN 0163 — XXX XX - X — XXX |

| o |
RoHSI @
VERSENE. BSENERRI0%-50%. BESEENFXPNRE/ SETH. compliant || € =18




